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Notation: In the following questions, boldface lowercase letters such as x, v, etc. denote column vectors of ' '3

proper length; boldface uppercase letters such as A, B, etc. denote matrices of proper size; A’ means the
transpose of matrix A.. C(A) is the column space of matrix A, and N(A) is the null space of matrix A, R s
the usual set of all real numbers.

— ~ Forward elimination uses possible clementary row operations to do elimination on a matrix. Suppose a block

H I .
lower triangular matrix E = [ 3 K} can do elimination on a whole block column of matrix

M N R . . .
A= [ P Q} to produce an upper triangular matrix U = [2 T} . IfH and K are identity matrices, and A

has independent columns, which of the following statements are true?
(A) ATAis invertible.

(B) T=Q-PM'N.

(C) J=PM".

(D) Q=M; R=-N.

(E) E isinvertible.

= ~ Given three vectors, v,=[I 2 3 4 5]', v,=[6 7 8 9 10, andv,=[2 -3 0 I o,
which of the following statements are true ?

(A) The set of all linear combinations of v, v, and v, is isomorphic to R>.

(B) IfS is a subspace spanned by v, and V,, V,can be a vector in one of the bases for S', which is

perpendicular to S.

(C) If A=[v, v,],therank of Ais3.
(D) If A=[v, v, v,],thedimension of N(A) is 2.

(B) If A=[v, v, v, ], the column vectors of AT are linearly independent.
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= ~ 51 is the subspace generated by v, = [1 -1 1 I]T, and S is the subspace generated by
v,=[1 0 -1 0]T JIf A=[v, v,], which oftahc following is within the subspace generated by v, T
and v,?
(Ay §,MNS,.

(B) S,US,.

(C) CA). LA
(D) [4 ~4 3 4]T +o * [1 ~1 1 I]T +e, *[1 o —1 O]T_, where ¢) and ¢ are arbitrary real
numbers.

B [x x x x4]T, whereix,. =0.
=1

29~ Given a subspace W: ax+ by + cz+du =0, {a,b,c,d € '} ; If the orthogonal projection matrix onto the

W is P, which of the following statements are always true?
(A) PT=p,

(B P=r-',

(C) The column vectors of PT are orthogonal to each other.
(D) P=p,

(E) PTP is invertible,

2~ Aisan m by n matrix and Q = [q, - q, |- suppose Q has orthonormal cotumns, i.e. q, (i=1~n) are

orthonormal vectors, and A=QR, which of the following statements are true?
(#) Q™=
(B) The orthogonal projection matrix onto C(Q) is Identity Matrix.

(C) q;/q,=0if i=,

(D) det(Q™Q)=1.
(E) If m=n, det(A)= det(R).
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7% ~ Formatrix A=)-2 2|, which of the following statements are true for each basis and dimension of

2 =2

four fundamental subspaces? Note the coefficients a, b, ce R'.
1
-2

2
(A) Column space of matrix A: C(A)=a , dimension C(A) = 1.

1
-2

2
(B) Null space of matrix A: N{A) = bT, dimension N(A) = 1.

{ 1}
-1
(C) Column space of matrix AT: C(AT)=¢ , dimension C(AT) =1,

V2

(D) Matrix A has 2 eigenvalues and eigenvectors.
(E) Rank of matrix A is 2.
- ~ Which of the following statements are true?
(A) Areal matrix with real eigenvalues and eigenvectors is symmetric.
(B) A real matrix with real eigenvalues and complete set of orthogonal eigenvectors is symmetric.
(C) The inverse of a symmetric matrix is symmetric.
(D) If the columns of a square matrix S are linearly independent, S is invertible.
(E) A matrix with complete set of independent eigenvectors is diagonalizable.
A~ Find the eigenvalues and eigenvectors of A3, where

1 1

B) M= -Lde=3 x = | x| |
(BY M=-1,h2=3; X]—l,xz_ b
1 —1
© M=121m=9; x]=|i1}’ x2=I: 1:"
HES
D) M=1L21=27, x,=| |, x,= _
1 1
E) Mi=1, =1, = L = -1
() 1_92'—1, X]—l,xzu. 1
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7. ~ The rabbit and wolf population shows fast growth of rabbits (from 6#) but loss to wolves (from -21v)

Pl=6r—2w

w=2r+w

Which of the following statements are true?
(A) The eigenvalues are A =5, 1o =2,

(B) If »(0)=w(0) =30, the population of rabbit at time ¢ becomes: 20e> +10e” .

(C) If #(0)=w(0)=30, the population of wolf at time ¢ becomes: 10e™* +20e™ .

(D) After a long time, the ratio of wolves to rabbits approaches 2.
(E) After a long time, the wolves will be extinct due to Jack of food.

2 -1 b
+ ~ Forareal matrix A=|-1 2 —1| which of the following statements are true?
b -1 2 '

(A) A is positive definite if b = 3.

(B) - The eigenvalues in positive definite matrix must be positive.

(C) A equals R™R for a matrix R with independent columns if » = 0.
(D) All 3 pivots in matrix A are positive if & = 0.

(E) The determinant of A is always positive for all b.

-~ Suppose that y,(x),---,», (x) aren-1 times differentiable functions over (—c0,e0) and W(x)
denotes the Wronskian of y;(x),---,,(x) atx. Which of the following statements are true?
(A) W(x) vanishes at every x if y,(x),---,¥,(x) are linearly dependent.
(B) If y(x), -+, y,(x) arc linearly independent, then there is x such that W (x)#0.
(©) If »(x),-+-,y,(x) are linearly independent, then W(x) =0 forall x.

(D) If »(x),---,»,(x) are also solutions of an nth-order linear homogeneous ordinary differential

equation with constant coefficients. Then either W(x)#20 forallxor W (x)=0for all x.
{E) None of the above statements are true.
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+ =~ Suppose that p(x), g(x),and f(x) are continuous functions over (—o0,0), and f(x) is not the
zero function. Please determine which of the solution sets of the following differential equations are vector
spaces?

(A) ")+ p(x)y'(x)+q(x)y(x) = f(x).
B) »"(x)}+ p(x)y'(x)+g(x)yp(x)=0.
(©) yE)"(x)+y(x)=0.

D) x*p"(x)+5x'(x) +12p(x) =1.

B ') =1.

+=~  Consider the differential equation y"(x)+ay(x) + by(x)=0. Which of the following statements are
true? '
(A) y(x) >0 no matter what y(0) and y'(0) if @a>0 and b>0.
(B) y(x) is bounded no matter what »(0) and y(0) if a>0 and b=0.
(C) y(x) is unbounded for all (3(0),'(0))#(0,0) if min {a,b}<0.
(D) y(x) is always unbounded whenever (y(0), y'(O)=(0,0) if ab<0.
(E) None of the above statements are true.
+ w3 -~ Which of the following statements are true?

(A x(t)= J: te” f{f—7)dr isthe solution of x"(f)+2x'(r) +x(t)= /() and x(0)=x'(0)=0.

(B} Let &(x) be the impulse function. Then the following two initial value problems
Y () +ay'(x)+by(x) = f(x), (0)=0 &y'(0)=v and
Y +ay'(x) +by(x) = F(x) +vS(x), () =0 & y'(0)=0 have the same solution for x> (.
(C) If f(x) isacontinuous function over [0,c0), then there always exists some complex number s such

that the Laplace transform J-: e f(x)dx converges.

(D) Inverse Laplace transformation, provided it exists, is not a linear function.
(E) None of the above statements are true.

+2Z ~  Consider the initial value problem: y'(x) = x° y(x)1-p(x))’, 3(0)=0.5. Which of the following

statements are true?

(A) The initial value problem may have infinite many solutions.
(B) The solution, if exists, always lies between 0 and 1.

(C) The given differentiable equation is separable.

(D) The given differentiable equation is exact.

(E) None of the above statements are true.
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+75 ~  Inthe following choices of (A) to (E), please find the solutions to the given system of equations

R

a3 -1 NEra T
W 5_1} {1/\/5} [m@} | L
®) 3‘1 o (230, [ 1],

;@}‘Lﬁ}{wﬁ“

3 31 o | 237, -
_J*MF{md“bﬁe
D) |3 poey DL [203], 0 .
S I i I o e S

I 1 2/37 [ -1
V3 e’ +3 e~ e+ e
1 3 143] [2/43
+- Wecan derive the solution as a series of normalized eigenfunctions of the corresponding
homogeneous problem as follows:

Y+Ay=0, p(0)=0, y(OH+y'(1)=0
where the solution can be expressed as

_ i Cf(x)sinyf4,
Y R oot JA)

Please find the corresponding term of Cf{%) from the following choices:

(A) 4(sin\/ﬂ,-“x+cos\//1_”x)
(B) 4sin\/l_”x+cos\/):x

(C) sin \//’L_Hx+4cos A%

©)

Ln

wh

(E)

h

(D) 4sin,/A, x

(B) Zcos /A, x
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-+~ Continuing on the previous question, please find the value of the A, for n>4.
(A) (2n+1yz*
4
(nz)’
2
(nr+1)°
2
2n-1’x’
—
(n7r —1)*
—
70~ Find the inverse Laplace transform of the given functions:

7 2s5+1
45* +45+5

(A) %e”zsinh(t—Z)

(B)
(©)
(D)

(E)

(B) %e*” *sint
1 —1/2
(C) Ee cost
1 12
(D) 1 ¢ ' “cosh(t—-2)

1 .
(E) " e sinht
=+~ Assume that there is a Fourier series converging to the function fdefined by

-x, -—25x<0,
x, 0<x<2:

f(x)={ } and f(x+4)=f(x).

Please find the following choices, which are the terms in this Fourier series?

3 cos(% X)
(A) —5——5—
T 225

®) Lz sin(47x)

T 8
© 1

8 cos(E TX)
(D) _2%2—
T 25

1 sin(8zx)

®) 7 32
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